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EL S #| 317,018 448,900( 430,621 456,100( 516,134 329,795( 226,115| 379,707( 343,680( 579,399| 128,317| 199,615| 304,478| 337,272| 292,770| 228,429
& 5a A L -16.1 8.4 -0.6]- 42.3 -7.1 2.9 -47.8 4.3 15.6 3.0 -14.5 -56.6 -19.1 -56.7 -30.0
% E|AERAL 2.0 16.7 24.5|- 1.1 -23.7 -18.8 -16.6 22.0 83.3 0.2 6.1 -4.8 7.7 -13.8 -21.5
EFFOCYR #| 231,997| 307,943| 259,712 359,307 321,536( 225,027( 174,817( 333,784( 281,880( 341,379| 117,060| 181,238| 274,394| 249,605| 265,517 202,680
XEYE B L 0.7 9.8 0.3]- 19.3 -8.9 -5.9 5.0 -8.1 12.0 7.0 7.3 -3.6 0.7 -5.6 5.7
3 6 SpERAL 1.2 5.7 3.5|- 7.4 -13.7 -9.6 8.7 3.1 18.2 6.8 9.6 -7.2 8.6 1.8 -8.4
[ ES #| 215,173| 279,398 229,371 324,559( 279,825( 193,172 166,055| 314,508( 269,674| 317,744| 110,558| 169,060| 269,466| 238,692| 257,781| 185,592
@ 5 IR = R d 0.7 8.7 0.3]- 11.5 -7.4 -5.7 5.6 -10.1 14.9 9.1 6.0 -3.6 0.3 -5.0 5.8
AIERA L 1.6 3.3 2.11- 6.3 -10.0 -10.2 7.7 3.1 21.4 5.1 6.7 -7.5 11.2 3.1 -6.8
— ES #| 85,021| 140,957| 170,909 96,793( 194,598( 104,768 51,298 45,923 61,800 238,020 11,257| 18,377| 30,084| 87,667| 27,253| 25,749
@ 5 g A #E| -62,279 7,443 -3,557|-441,112( 101,613 -3,413| 17,245(-362,718| 38,952| 41,714 -3,973| -46,039(-386,345| -81,458|-368,881(-109,129
AIERAZE 3,569 47,639| 75,900( 54,835| -16,515| -66,690( -33,901|-101,945| 53,630( 210,789| -7,209 -4,173 6,093 4,448| -51,791| -44,113
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LIS ES 24 151.8 184.4 165.9 169.0 164.6 178.3 138.6 173.2 161.0 162.4 110.2 144.4 136.5 151.1 151.8 152.0
5 ME A L -0.6 4.3 -1.2)- -5.3 -5.6 -1.4 1.1 -4.0 4.7 4.1 3.4 -5.5 -1.5 -3.4 2.4
B E|siERAL -0.8 5.3 -1.7]- -6.4 -11.4 -2.0 13.5 0.1 3.0 1.2 -2.7 -1.9 2.1 -1.9 -2.6
PR TE R 24 141.3 168.5 151.4 146.5 152.3 151.6 131.9 159.0 149.7 146.4 104.5 139.4 125.0 146.6 143.0 140.3
BE A L -0.7 3.7 -1.4)- -4.5 -4.3 -0.7 0.0 -5.1 4.3 3.8 2.9 -6.5 -1.3 -4.3 2.0
B EsiERAL -0.6 3.7 -1.1)- -2.9 -9.5 -1.8 10.2 2.8 4.2 -0.5 -2.2 -3.5 2.6 -4.5 -2.4
PR TE SHR 24 10.5 15.9 14.5 22.5 12.3 26.7 6.7 14.2 11.3 16.0 5.7 5.0 11.5 4.5 8.8 11.7
5 ME A L 1.0 12.0 0.7{- -15.1 -11.9 -11.9 15.5 11.9 8.8 9.6 21.9 6.5 -4.3 15.9 8.4
B EsiERAL -1.9 26.2 -8.2|- -35.9 -21.0 -4.3 69.1 -26.2 -6.4 46.2 -13.8 18.5 -10.0 76.2 -4.9
" = 24 19.6 22.2 20.1 19.3 20.4 19.8 19.9 20.4 20.8 19.6 16.3 20.2 17.9 19.8 19.2 19.7
8 Bl A = -0.3 0.7 -0.3 -0.3 -0.3 -1.2 -0.4 0.2 -0.5 -0.4 0.2 0.8 -1.0 -0.6 -0.4 0.0
AR A ZE -0.4 0.9 -0.2 0.1 -0.4 -2.2 0.0 1.1 0.5 -0.4 -0.9 -0.4 0.4 -0.6 -0.5 -0.9
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NG ES #| 383,960 26,353 63,326 2,695 4,355| 22,082 65,533 11,892 4,786 6,414| 35,212 10,961| 24,661 77,199 3,294| 25,019
M RET Bt 0.7 0.1 0.1{- 1.2 -0.4 0.8 1.3 1.5 -0.1 3.5 -2.9 0.7 0.3 0.2 1.2
R SaERAL 0.9 1.4 0.0{- -1.6 1.5 -1.4 -0.8 5.4 -0.7 5.8 -4.8 2.0 -0.2 -14.7 11.4
LR RN 28.3 4.3 9.8 4.5 11.0 15.2 54.0 3.9 16.5 11.8 70.2 42.4 29.6 22.6 4.4 22.3
A M= 1.80 1.44 0.50|x 1.44 0.73 1.38 1.53 2.69 0.12 6.33 0.40 1.25 1.76 0.97 3.35
B = 1.22 1.30 0.79|x 0.28 1.08 0.53 0.20 1.17 0.25 2.76 3.28 0.51 1.45 0.70 2.18
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EL S #| 355,873| 458,507| 470,392 383,390( 446,262 350,177| 232,506( 375,063| 349,743| 507,618| 152,311| 197,185| 352,583| 365,159| 333,312| 198,202
& 5a A L -20.9 -8.9 -4.6|- 5.7 6.2 -8.3 -51.8 9.3 -15.5 -4.8 6.7 -59.9 -21.3]- -29.9
% E|AERAL 0.4 -3.7 24.9|- - -18.9 -7.8 5.8 26.2 56.3 -27.6 -7.7 -3.3 2.7|- -38.6
EFFOCYR #| 252,743| 303,531 272,669 383,390( 298,364( 233,383| 182,369| 350,344( 315,581| 344,988| 134,398| 156,551| 319,061| 273,431| 291,280| 175,100
XEYE B L -1.2 -2.2 -1.0]- 3.1 -7.0 14 2.5 -1.3 -1.2 0.7 1.0 -1.7 -0.5]- -2.4
3 SpERAL -2.6 -8.7 2.11- - -12.9 0.1 17.7 27.2 6.4 -9.7 -5.8 -9.9 2.11- -21.1
[ ES #| 231,402| 269,208 237,445 340,736( 270,896( 198,031| 170,912 331,350( 295,051| 319,218| 123,172| 148,683| 311,152| 260,009| 277,503| 160,418
N g A It -1.2 -1.5 -1.1]- 14 -6.7 0.9 1.8 -0.7 -0.2 -0.1 0.8 -1.8 -0.9]- -1.6
" AIERA L -1.9 -7.8 -0.11- - -13.7 -1.7 16.3 29.6 8.8 -11.6 -6.0 -10.5 5.7|- -18.7
— ES #| 103,130( 154,976 197,723 0| 147,898| 116,794| 50,137 24,719| 34,162| 162,630 17,913| 40,634| 33,522 91,728| 42,032 23,102
N g A #| -91,139( -38,145| -19,858(- 15,277\ 37,698| -23,507(-411,663| 34,162| -88,669( -8,538| 10,587(-522,143( -97,420|-293,981( -80,168
" AIERAZE 7,876 11,698| 88,409(- -120,354( -47,270| -19,632| -32,236 5,367| 161,995| -43,739| -6,886| 23,066 4,140|-121,641| -77,224
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LIS ES 24 155.7 182.9 168.3 173.6 165.4 185.3 137.2 165.6 185.1 159.3 120.0 135.9 135.9 153.1 166.3 144.8
5 ME A L -0.7 -2.3 -0.9|- -3.6 -0.1 0.9 0.6 -1.1 4.7 1.4 2.3 -3.8 -1.7)- -0.4
B EsiERAL -1.6 0.9 -1.9|- - -4.7 0.5 5.6 14.9 -3.4 -0.2 -8.9 1.3 1.3]- -4.0
PR E MR 24 143.4 163.2 152.1 144.5 151.6 155.7 130.0 155.3 161.8 142.6 110.6 130.2 124.1 148.4 150.3 132.8
5 ME A L -0.9 -0.9 -0.8)- -4.4 -0.3 0.5 1.0 -2.8 1.1 1.7 2.3 -3.8 -1.5)- -0.2
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Zinaal ES 24 12.3 19.7 16.2 29.1 13.8 29.6 7.2 10.3 23.3 16.7 9.4 5.7 11.8 4.7 16.0 12.0
5 ME A L 0.0 -11.7 -1.9|- 4.4 1.0 9.1 -5.5 12.0 53.1 -2.1 0.0 -4.0 -7.8)- -2.4
B EsiERAL -5.4 -15.8 -7.0|- - -2.0 4.3 18.4 -3.7 -6.2 25.4 -10.9 47.5 9.3(- -14.3
" = 24 19.6 21.7 19.9 19.1 20.1 19.8 20.6 19.5 22.8 19.1 16.7 19.1 17.9 19.7 20.2 19.2
8 Bl A = -0.3 -0.5 -0.2|- -0.4 -0.5 0.0 -0.1 0.2 -0.3 0.3 0.2 -0.7 -0.4 0.5 -0.3
AR A ZE -0.4 0.8 -0.2|- -0.8 -1.9 0.4 0.2 1.7 -0.5 0.1 -1.4 0.5 -0.6 -1.4 -1.1
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MK A It 0.2 0.3 -0.3]- 1.7 -0.1 0.9 -0.1 0.4 -0.4 1.4 0.1 -0.6 -0.3]- 2.0
R SnERAL 2.6 1.0 0.7(- - -1.8 1.0 -11.1 -3.9 4.6 10.3 0.1 2.6 2.5|- 20.1
LR YT 21.4 2.1 6.5 5.8 10.4 8.1 53.7 5.6 10.1 10.5 61.4 51.2 25.2 17.9 5.4 30.4
A M= 1.30 0.77 0.63(x 2.08 0.76 1.45 0.43 0.46 0.13 3.86 1.15 0.38 1.01)x 4.70
B = 1.13 0.51 0.89(x 0.40 0.83 0.58 0.55 0.00 0.43 2.48 0.97 0.90 1.32|x 2.70
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